2024 JAFILIEES) — R FIE 28 Feb 18 2024
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[ Course [SHIN CHITOSE A2 [Length m)] 090 |
Stage Classification Total Classification
Pos | No Class | Pos Driver Time | Diff (Prev)] Km/h Pos No Class | Pos Driver Time (Pen) |Diff (Prev)
1 5 [chRA-1] 1 [EfE #R 0:48.4 -| 66.94 1] =15 |chrRA-T[ 1 |5EBE R 2:53.7 -
TR"HE BER BR"HE BER
2 6 |ChRA-T| 2 [[UE f#&— 0:49.3 +0.9] 65.72 2| = 1 | ChRA-1 [ 2 (B4R IEA 2:56.2 +2.5
mF RF (+0.9) =R EBY (+2.5)
3 10 | ChRA-1 | 3 | KB E 0:49.7 +1.3| 65.19 3| = 4 | ChRA-1 [ 3 |&£HE 24N 2:59.7 +6.0
#HE B3 (+0.4) FH (+3.5)
4 1 | ChRA-1 [ 4 (B IEA 0:49.9 +1.5] 64.93 4 [+2| 6 [ChRA-T| 4 |ILE {E— 2:59.8 +6. 1
REOEBY (+0.2) " RF (+0.1)
5 11 [ChRA-T| 5 |IUE % 0:50.0 +1.6| 64.80 5| =] 11 |chRA-T [ 5 |IUE & 3:00.1 +6. 4
W OEE (+0.1) W OLEE (+0.3)
6 4 [chRA-T| 6 (& 2A 0:50.7 +2.3] 63.91 6 [+1] 3 [chRA-1] 6 [BREF = 3:02.6 +8.9
FH (+0.7) FER (+2.5)
=6 | 22 [ JrRA-T | 1 [dkBE #BAr 0:50. 7 +2.3] 63.91 71+2| 22 [JrRA-1T ] 1 [dLE BN 3:05.6] +11.9
ER EBEF (+0.0) ER EF (+3.0)
8 2 | ChRA-1 [ 7 |@&iZ #F05A 0:51.2 +2.8] 63.28 8| =] 9 [chRA-1| 7 |5 B& 3:06.5] +12.8
AR BF (+0. 5) e 8% (+0.9)
9 3 [ChRA-1| 8 |{&RE = 0:51.4 +3.0| 63.04 9 [+2| 10 [ ChRA-1| 8 |K¥E E 3:08.3 +14.6
FEs B (+0.2) #HE B3 (+1.8)
10 7 [chra-1] 9 [EE BA 0:52.1 +3.7] 62.19 10| =[] 7 [chrRA-1| 9 |BiE [BA 3:08.4] +14.7
A BE (+0.7) A BEE (+0.1)
11 13 | ChRA-1 | 10 |BRIR 7% 0:52.2 +3.8| 62.07 11| +1 | 13 | ChRA-1 | 10 |BRIR %% 3:10.9 +17.2
TR kE (+0.1) TR kE (+2.5)
12 9 [ChRA-1| 11 |§% EXE 0:52.5 +4.1] 61.71 12 | +1| 23 | JrRA-2 [ 1 |/NEFF & 3:16.5 +22.8
e 8% (+0.3) INFE HETF (+5.6)
13 | 15 | ChRA-2 | 1 (@ —3F 0:54.4 +6.0| 59.56 13| +1 | 12 [ ChRA-1 | 11 |lUA —& 3:17.8 +24. 1
REH EA (+1.9) 'K # (+1.3)
14 | 23 | JrRA-2 [ 1 |[/NB33F & 0:54.5 +6.1| 59.45 =13| +3 | 15 [ ChRA-2 | { |AFE —=% 3:17.8 +24.1
INFE HETF (+0.1) FH EBA (+0.0)
15 | 25 | JrRA=2 | 2 L £ 0:54.7 +6.3| 59.23 15| = 8 |[ChRA-1 | 12 |B1gG =A 3:18.3 +24. 6
Eih #E (+0.2) A o (+0. 5)
16 | 20 | ChRA-3 [ 1 |=K MHX 0:55.0 +6.6] 58.91 16 | +1 | 20 [ ChRA-3 | { |=K Rk 3:19.3 +25. 6
AN =F (+0.3) AN =F (+1.0)
17 8 |ChRA-1 | 12 |BigG =A 0:55.4 +7.0| 58.48 17| +1 | 18 [ ChRA-2| 2 |FHA HHE 3:21.3 +27.6
A o (+0.4) BEERE #N (+2.0)
18 | 12 | CchRA-1 [ 13 [ILO —% 0:55.6 +7.2| 58.27 18 [ +3 | 25 | JrRA-2 | 2 |LIF £ 3:22.3 +28. 6
'K & (+0.2) Hih #E (+1.0)
19 | 18 [ ChRA2| 2 |FA /4% 0:56.0 +7.6] 57.86 19| = | 29 | xc-2 1 |1#% 2K 3:22.9] +29.2
BR #N4 (+0. 4) B WX (+0. 6)
=19 | 19 [ChRA-3| 2 |HE & 0:56.0 +7.6| 57.86 20| = | 19 [ChRA-3| 2 [HEx Em 3:23.0 +29.3
KBA HEF (+0.0) KBA HEF (+0.1)
21 29 XC-2 1 (#% 2LKX 0:56.4 +8.0| 57.45 21 | +1 | 27 | rRAB | 1 |FBA 5 3:26.0 +32. 3
B X (+0. 4) =K ¥ (+3.0)
22 | 32 XC-3 1|t #fx 0:56.5 +8.1] 57.35 22| +1 | 14 [ ChRA-2| 3 [iEfE Kt 3:26.4 +32.17
& mFE (+0.1) ti BE— (+0. 4)
23 | 27 | JrRA3 | 1 [RES B 0:56.9 +8.5] 56.94 23| +1 ]| 32 [ xc3 | 1 [t #Bk 3:27.1 +33.4
=K ¥ (+0. 4) & EE (+0.7)
24 | 14 [ ChRA-2 | 3 |iEfE Kt 0:57.1 +8.7| 56.74 24 [ +1 | 30 XC-2 2 |i®H BAZE 3:33.9 +40. 2
ti BE— (+0.2) %H BH4E (+6.8)
25 | 24 | rRA2| 3 [JIIR BE 0:58. 1 +9.7] 55.77 25| +1| 31 | xc2 | 3 [KEF [B— 3:34.4] +40.7
=H BE (+1.0) B g (+0. 5)
26 | 31 | XC2 | 2 [KE B— 0:58.5] +10.1] 55.38 26 | +1 ]| 24 [ JrRA2| 3 [ B% 3:36.2| +42.5
mE A (+0.4) EH BE (+1.8)
27 | 30 | Xc2 | 3 [i&H BEH=: 0:59.0] +10.6| 54.92 27 |-23| 2 |chRA-1 [ 13 |#&iZ F03h 3:40.4| +46.7
%H ML (+0.5) BH BEF (0:40)| (+4.2)
28 | 16 [ ChRA-2| 4 R & 1:02.0 +13.6| 52.26 28| = | 16 [ ChRA-2| 4 R & 3:43.6 +49.9
wE Lo (+3.0) wE Lo (+3.2)
29 29
30 30
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